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5. As shown in the figure, the circumference of the painted part of the parallelogram is
centimeters.(A)36.5 (B)37.2 (C)37.4 (D)37.7 _ llem
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10. The restaurant uses 1% liters of salad oil for cooking every day. After two weeks, there are
still 2% liters of salad oil left. How many liters of salad oil of the restaurant are there at

first? (A)26 (B)27% (C)28% (D)29
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15. Fill in a number in the square on the right, so that the numbers in each row,

column and diagonal square are 2, 4, 6, 8, then A+B=? (A)6 (B)8 (C)10 214168
(D)12 . 5
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20. The inner radius of the circular iron ring is 5 cm, and the outer radius is 6 cm. If 15 iron
rings are connected in series to form an iron chain. As shown in the figure, what is the
length of the iron chain after both ends are straightened? (A)152 (B)154 (C)156 (D)158
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25. A bottle of beverage has two parts A and B. Part A is a cylinder, as
shown in the picture. Now the bottle contains some drinks. The /B
height of the beverage is 20 cm when placed. The height of the
remaining part is 5 cm when it is reversed. If the volume of the
beverage bottle is 30000 cm’. What is the volume of the existing
beverage in the bottle? (A)20000 (B)22000 (C)24000 (D)26000
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